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1. For observing the behaviour of his students, the teacher himself 
involved as a player in a game played by the students, this type of 
observation is 

 1. Participatory observation 

 2. General observation 

 3. Non-participatory observation 

 4. Macro observation 

 Θτ ΤôΠΞνΚ↓τ ΡΟιûΘûΥ ∆σß 
úΡôχÏΞΘσΚôΚ Α′↔Υν+ ΤôΠΞνΚρ ↑ûΖΥôÓλ 
↑ûΖΥôγ⁄ο Θôàλ ↑ûΖΥôÓΣΞςôΚ ΣδÏ 
ùΚôρ€[ôν− ΒϕΘ ∆σßúΡôχΚο ΞûΚ   

 1. ΧÓΣγÓ ∆σßúΡôχΚο 

 2. ùΣôÕ ∆σßúΡôχΚο 

 3. ΧÓΣΟô ∆σßúΡôχΚο 

 4. úΣ↔Υο ∆σßúΡôχΚο 

 

 

 



 

2. One of the following statements is true 

 1. Development is a short term process 

 2. There are no individual differences in development 

 3. Development is not uniform in all the developmental stages 

 4. Development is not predictable 

 •θχΚôηΣΞσ°ο Ιτß ∆ηûΤΥô∴Õ 

 1. Øτú∴σ[λ Ïß€Υ ΚôΩε ùΜΥσΣôÓ 

 2. Øτú∴σ[ιƒο Θ±Υôρ úΞσßûΤΚρ 

ΒοûΩ 

 3. ≅û∴ιÕ Øτú∴σ[κ Σ⁄♣ûΩΚ↓Ûλ 

Øτú∴σ[λ Ιúς ≠ςôΚ ΒÚχΚôÕ 

 4. Øτú∴σ[ιûΘ Ε€χΚ ΒΥΩôÕ 

 

3. The third stage in the order of language development is 

 1. Bobbling stage 

 2. Prelingual stage 

 3. Language comprehension stage 

 4. Sound imitation stage 

 ùΤô→ ΞΖνε′♠τ Σ⁄♣ûΩΚ↓τ Ξ↔ûΜ♠ο 

êτ[ôΞÕ Σ⁄♣ûΩ 

 1. ΤΨûΩκ úΣεÑ ♣ûΩ 

 2. Øτ ùΤô→ ♣ûΩ 

 3. ùΤô→ûΥκ ×↔ϕÕùΚôρÞλ ♣ûΩ 

 4. Ι←ûΥκ ♦τΣσßλ ♣ûΩ 



4. One of the following techniques is not mentioned by Sigmund Freud 
for dwelling out the repressed unconscious feelings 

 1. Free association 

 2. Gestaultism 

 3. Dream analysis 

 4. Hypnosis 

 ΙÓχΚκΣγΟ Ρ∴↑← ∆ΠνÜΚûΖ ùΞ↓χ ùΚôΠς 

′χΤηγ ?♦ςôµÓ ΦτΣΞςôο Ï°κ♦ΟκΣΟôΘ ∆ιƒ 

 1. ÑΘϕƒςΤô∴ ùΘôΟν× 

 2. ØÝûΤΥô∴ Ξ⁄Ξλ 

 3. Κ∴Ü ΣÏκΣôµÜ 

 4. ΑθÕ♠ο/Τú∴ôΞ′Υλ 

 

5. The study that supports the influence of Heredity on development of 
an individual  

 1. Pearson – Darwin’s family 

 2. Freeman – Miltred Rooth 

 3. Skodak – Foster children 

 4. Gordon – Gipsy children 

 Θ±Τ±Θ ΞΖνε′♠τ ÁÕ Τς×Ξ→ ΘôχΚιûΘ 

ΑΘ↔χÏλ ΑµÜ 

 1. ♦ΥνΜτ    `  Οôν↑τυ ÏÓλΣλ 

 2. ?κÃΤτ    `  ♥ογùςγ ìι 

 3. υúΚôΟχ   `  ΞΖνκ×χ ÏΨϕûΘΚρ 

 4. úΚôνΟτ   `  ≥κ″ ÏΨϕûΘΚρ 

 



6. The following is a play that is said to be the first social activity of a 
child with his friends 

 1. Solitary play 

 2. Parallel play 

 3. Co-operative play 

 4. Arrogant play 

 ÏΨϕûΘΚρ ΘδΚρ ΡηΣνΚÞΟτ ΡΟιÕλ ØΘο 

ΜêΚ ùΜΥσΣôΟôΚ á[κΣÓλ ↑ûΖΥôγÓ ΞûΚ 

 1. Θ±ιΘ ↑ûΖΥôγÓ  

 2. ΒûΠΥô∴ ↑ûΖΥôγÓ 
 3. ΙιÕûΨκ× ↑ûΖΥôγÓ � 

 4. ΞτØû[ ↑ûΖΥôγÓ 

7. According to instincts and its corresponding emotions the following 
is a right pair 

 1. Parental urge - anger 

 2. Curiosity - fear 

 3. Laughter – spirit/activeness 

 4. Structure - abhorrence 

 ΒΥοéχΚδΚρ Τσßλ ≅Ξσ°σÏ ùΘôΟν×ûΟΥ 

Τ∴ùΞÝε′ΚûΖκ ùΣôÚιÕ •θχΚηΟΞσ°ο 

Μ↔Υô∴ ΒûΠ  

 1. ùΣσú[ô↔τ ↑ÚκΣλ  `  úΚôΣλ 

 2. ΕχΚλ  `  ΣΥλ 

 3. ′↔κ×  `  ÑßÑßκ× 

 4. ΚγΟûΤκ×  `  ùΞßκ× 

 



8. Lack of concept of Irreversibility is related to this stage of Piaget’s 
Cognitive development  

 1. Sensory motor stage 

 2. Pre-operational stage 

 3. Concrete operational stage 

 4. Formal operational stage 

 ♦Υôú⊥↑τ ≅°Θο ƒ[ ΞΖνε′♠τ ÁΖôιΘτûΤ 

Φτàλ ΚÚιÕÚ ΒτûΤ ΦτΣÕ ΒϕΘ 

Σ⁄♣ûΩÙΟτ ùΘôΟν×ûΟΥÕ 

 1. ×Ω±ΥχΚ ♣ûΩ 

 2. Øτ ùΜΥσΣôγÓ ♣ûΩ 

 3. ♣Κθ♣ûΩε ùΜΥοΣôγÓ ♣ûΩ  

 4. ΒΥο ùΜΥσΣôγÓ ♣ûΩ 

 

9. The present performance of an individual that shows the future 
achievement is 

 1. Interest 

 2. Aptitude 

 3. Attitude 

 4. Performance 

 ΙÚ Θ±ΡΣ↔τ ΦƒνΚôΩ ΜôΘû∴ûΥι ùΘ↔↑χÏλ 

♣ΚθΚôΩε ùΜΥοƒ[λ 

 1. ΑνΞλ 

 2. ΡôγΟλ 

 3. Τ∴κΣôτûΤ 

 4. ùΜΥοƒ[λ 



 

10. The stage of ‘obedience for avoiding punishment’ is in this level of 
Kohlberg’s moral development 

 1. Pre-moral or Pre-conventional 

 2. Conventional moral level 

 3. Self accepted moral or late conventional level 

 4. Natural moral level 

 !ΘηΟû∴♠←ÚϕÕ Θκ♦χΚ •θΣ⁄Θο ♣ûΩ&  , 

•θχΚôÔλ úΚôοΣνχ€τ ¿ƒùΡ° ΞΖνε′ 

♣ûΩÙΟτ ùΘôΟν×ûΟΥÕ 

 1. Øτ ≅[ùΡ° ≅οΩÕ Øτû∴ Τς× ♣ûΩ 

 2. Τς× ¿ƒùΡ° ♣ûΩ 

 3. ÑΥΤôΚ ΓσΚκΣγΟ ¿ƒùΡ° ≅οΩÕ ♦τ  

Τς× ♣ûΩ 

 4. ΒΥσûΚ ¿ƒùΡ° ♣ûΩ 

 

  



11. Irrespective of his intention to participate in the essay competition, 
the child doesn’t participate in it because of his fear of poor 
performance and not being able to get a reward. The defense 
mechanism related to this is 

 1. Regression 

 2. Identification 

 3. Projection 

 4. Withdrawal 

 ΚγÓûςκ úΣôγ⁄♠ο ΣδÏùΚôρΖ úΞηÓλ Φτß 

ΒÚϕΘôÛλ+ Μ↔ΥôΚ ΦÝΘΤôγúΟôλ Φτßλ+ 

Σ↔ÑùΣ[ Ø⁄ΥôÕ Φτßλ ΣΥϕÕ ΣδÏùΚôρΖôΤο 

úΣôΞÕ ΒπΞûΚΥô∴ ΘσΚôκ×ε ùΜΥο 

 1. ♦τ∴ûΟΘο 

 2. ΙτßΘο 

 3. ΓσßΘο 

 4. ♦τΞôδÏΘο 

  



12. Prameela got seat in a Govt. residential college. She likes to join in 
the college but she does not like to reside in the hostel. The conflict 
is 

 1. Approach - Approach 

 2. Approach - Avoidance 

 3. Avoidance - Avoidance 

 4. Double approach - Avoidance 

 ♦ς♥Ζô↑σÏ ≅ςÑ ∆ηÓû[Ùλ Κοí↔♠ο ΒΟλ 

€ûΟιΘÕ− Κοí↔ Φ±ο ≅ΞÞχÏ ΑνΞλ− 

Α∴ôο ↑Óƒ♠ο ΘδÏΞùΘ±ο ≅ΞÞχÏ 

↑ÚκΣ♥οûΩ− ΒϕΘ Τ∴κúΣôςôγΟλ 

 1. ≅ÔÏΘο  `  ≅ÔÏΘο 

 2. ≅ÔÏΘο  `  ↑ΩÏΘο 

 3. ↑ΩÏΘο    `   ↑ΩÏΘο 

 4. ΒςγûΟ ≅ÔÏΘο  ` ↑ΩÏΘο  

 

13. One of the following is a secondary need 

 1. Food 

 2. Recognition 

 3. Sleep 

 4. Water 

 •θχΚηΟΞσ°ο Ιτß ΒûΟ♣ûΩι úΘûΞΥôÏλ  

 1. ∆ΠÜ 

 2. ≅δ•Κôςλ 

 3. ∆[χΚλ 

 4. ¿ν 



14. Law of readiness, law of exercise, law of effect are the outcomes of 
the following learning theory  

 1. Insight theory of learning 

 2. Trial and error theory of learning 

 3. Classical conditioning theory 

 4. Operant conditioning theory 

 ΑΥιΘ↑ƒ+ Σ♠σ′↑ƒ+ ↑ûΖÜ↑ƒ Α€ΥûΞ 

•θχΚôÔλ Κσ[ο úΚôγΣôγ⁄τ ↑ûΖΞôÏλ 

 1. ≅ΚχΚôγ′ êΩλ Κσ[ο úΚôγΣôÓ 

 2. ØΥτßΘΞ°χ Κσ[ο úΚôγΣôÓ 

 3. ΑχΚ ♣ûΩ♠ßιΘχ úΚôγΣôÓ 

 4. ùΜΥΩôχΚ ♣ûΩ♠ßιΘχ úΚôγΣôÓ 

 

15. The type of reinforcement related to acquiring own standards 
without expecting anything from others 

 1. Direct Reinforcement 

 2. Indirect Reinforcement 

 3. Self Reinforcement 

 4. Negative Reinforcement 

 ♦[↔Ο♥ÚϕÕ ΦûΘÙλ ΦƒνΣôςôΤο ÑΥΤô∴ 

ΘςδΚûΖ ùΣßΞΘσÏ ùΘôΟν×ûΟΥ ΞÛîγ⁄ ΞûΚ 

 1. úΡνØΚ ΞÛîγ⁄ 

 2. Τû[ØΚ ΞÛîγ⁄ 

 3. ÑΥ ΞÛîγ⁄ 

 4. ΦƒνΤû[ ΞÛîγ⁄ 

 



16. In this type of memory the content is in memory for a long time 

 1. Rote memory 

 2. Short term memory 

 3. Passive memory 

 4. Active memory 

 ΒπΞûΚ ♣û∴↑ο ΣôΟκùΣôÚρ ¿ηΟΚôΩλ 

♣û∴↑ο ΒÚχÏλ 

 1. Τ∴κΣôΟ Øû[ ♣û∴Ü 

 2. Ïß€Υ ΚôΩ ♣û∴Ü 

 3. ùΜΥοΣΟô ♣û∴Ü 

 4. ùΜΥοΣÓ ♣û∴Ü 

 

17. Even though we haven’t seen the situation we are seeing now, we 
feel it as we have seen that before, this feeling is,  

 1. Zeigarnik effect 

 2. Hallo effect 

 3. Deja vu 

 4. Gestalt effect 

 ΘσúΣôÕ ΣôνχÏλ ãθ♣ûΩûΥ Øτ× ΦκúΣôÕλ 

ΣôνχΚô↑γΟôÛλ ΣôνιΘûΘκ úΣôτ[ ∆ΠνÜ  

 1. û⊥Κôν±χ ↑ûΖÜ 

 2. ôúΩô ↑ûΖÜ 

 3. ùΟ⊥ô î 

 4. ùΚυΟôογ ↑ûΖÜ 



18. One of the following enhances memory 

 1. Repression 

 2. Disuse 

 3. Interference 

 4. Motivation 

 •θχΚηΟΞσ°ο Ιτß ♣û∴ûΞ ≅ƒΚ↔χÏλ 

 1. ΡÑχÏΘο 

 2. ΣΥτΣΟôûΤ 

 3. Ïßχ•Ó 

 4. ΕχΚλ 

19. In terms of transfer of learning ‘the effect of mother tongue in 
learning correct pronunciation of a foreign language’ can be termed 
as, 

 1. Positive transfer 

 2. Negative transfer 

 3. Bilateral transfer 

 4. Zero transfer 

 »≅ΥοΡôγÓ ùΤô→ûΥ Μ↔ΥôΚ ∆εΜ↔χΚ 

ΚσßχùΚôρΞƒο ΘôµùΤô→♠τ 

ΘôχΚιûΘµ ΒπΞûΚΥô∴ Κσ[ο Τôσ[λ Φτß 

≅ûΨχΚΩôλ− 

 1. úΡνØΚ Τôσ[λ 

 2. ΦƒνΤû[ Τôσ[λ 

 3. ΒÚ×[ Τôσ[λ 

 4. éϖ≥Υ Τôσ[λ 



20. The gradual disappearance of conditioned response of Salivation to 
bell in classical conditioning is  

 1. Reinforcement 

 2. Spontaneous Recovery 

 3. Generalization 

 4. Extinction/ 

 Τ∞Υ⁄χÏλ úΣôÕ ∆♥θ¿ν ÑςκΣÕ Φτàλ 

♣ΣϕΘû∴ΥôχΚκΣγΟ ÕΩδΚο Σ⁄κΣ⁄ΥôΚ 

Τû[ΞûΘ ΑχΚ ♣ûΩ♠ßιΘχ úΚôγΣôγ⁄ο 

ΒπΞôß ≅ûΨκΣν− 

 1. ΞÛîγ⁄ 

 2. ΒΥο♣ûΩ Áγ′ 

 3. ùΣôÕûΤΥôχΚο 

 4. Τû[Θο/≅σßκúΣôΘο 

 

21. One of the following is a reason for mental ill-health in students 

 1. Pleasant school atmosphere 

 2. Over burdened learning programs 

 3. Flexible examination system 

 4. Healthy habits of students 

 ΤôΠΞνΚ↓ο Τ∴ΡΩχ Ïû[Σôγ⁄σÏ ΙÚ ΚôςΠλ 

 1. Τ€θε′Υô∴ Σρ↓ε ãΨο 

 2. ≅ƒΚε ÑûΤΥô∴ Κσ[ο ƒγΟδΚρ 

 3. ùΡ€θÜι ΘτûΤÙρΖ úΘνÜ Øû[ 

 4. ΤôΠΞνΚ↓τ Αúςôχ€ΥΤô∴ ΣΨχΚδΚρ 



22. According to Bandura the first item in the process of social learning is 

 1. Retention 

 2. Reproduction 

 3. Attention 

 4. Reinforcement 

 Σηåςô↑τ ΚÚιÕκΣ⁄+ Κσ[ο ùΜΥοΣôγ⁄ο 

ØΘτûΤΥô∴ ≅λΜλ 

 1. Τ∴ιƒÚιΘλ 

 2. Β∴κùΣÚχΚλ 

 3. ΚΞ∴λ 

 4. ΞÛîγ⁄ 

 

23. The following is not related to Bruner’s Theory of Instruction  

 1. Readiness 

 2. Analysis 

 3. Content construction 

 4. Serial order 

 ×ì∴↔τ Κσ♦ιΘο úΚôγΣôγÓΟτ ùΘôΟν♦οΩôΘÕ 

 1. ΑΥιΘλ 

 2. ΣÏκΣôµÜ 

 3. ΣôΟκùΣôÚρ ∆ÚΞôχΚλ 

 4. Ξ↔ûΜ ΙÝδÏ 

 

 

 



 

24. There are 151 students in a primary school. As per RTE Act 2009 
the number of teachers to be placed in the school  

 1. 5 primary teachers + one science teacher 

 2. 4 primary teachers + one language teacher 

 3. 4 primary teachers + one head teacher 

 4. 5 primary teachers + one head teacher 

 ΙÚ ùΘôΟχΚκ Σρ↓♠ο 151 ΤôΠΞνΚρ ∆ρΖ∴ν− 

Κο↑ ∆↔ûΤε ΜγΟλ 2009τΣ⁄+ ≅κΣρ↓♠ο 

ΒÚχΚ úΞη⁄Υ Α′↔ΥνΚ↓τ Φη∞χûΚ 

 1. 5 ùΘôΟχΚ Α′↔ΥνΚρ G ΙÚ ≅°↑Υο 
Α′↔Υν 

 2. 4 ùΘôΟχΚ Α′↔ΥνΚρ  G  ΙÚ ùΤô→ 
Α′↔Υν 

 3.  4  ùΘôΟχΚ Α′↔ΥνΚρ G ΙÚ ΘûΩûΤ 
Α′↔Υν 

 4.  5  ùΘôΟχΚ Α′↔ΥνΚρ G ΙÚ ΘûΩûΤ 
Α′↔Υν 

 

  



 

25. As per NCF-2005, the general aspect which is a physical 
inconvenience to children 

 1. Caring school staff 

 2. Proximity in availability of school 

 3. Well equipped Toilets 

 4. Over burdened school bags 

 NCF - 2005τΣ⁄+ ÏΨϕûΘΚÞχÏ ∆ΟοÃƒΥô∴ 

ΞΜƒ♠τûΤûΥ ΓσΣÓιÕλ ΜôΘôςΠχ áß 

 1. ΣôÕΚôχÏλ Σρ↓ Ε→Υν 

 2. ≅Ú€úΩúΥ Σρ↓ ≅ûΤϕƒÚιΘο 

 3. ΞΜƒΥô∴ Κ→κ♦ΟδΚρ 

 4. ≅ƒΚε ÑûΤΥô∴ Σρ↓κ ûΣΚρ 

  



 

26. In this leadership style, the leader is nominal and the members enjoy 
complete freedom and take final decisions by themselves. 

 1. Democratic 

 2. Autocratic 

 3. Laissez faire 

 4. Mixed 

 Βι ΘûΩûΤκ Ση× Øû[♠ο ΘûΩΞν 

ùΣΥςΖ↑ο ΒÚϕÕ ∆ßκ♦∴νΚρ ØÝ 

ÑΘϕƒςιûΘÙλ ùΚôηÓ ↑Ζδ€+ Βßƒ 

Ø⁄ÜΚûΖι ΘδΚÞχÏι ΘôδΚúΖ ΦÓιÕχ 

ùΚôρ€τ[∴ν 

 1. ΤχΚΖôγ′ 

 2. ΜνΞôƒΚôς 

 3. ΘûΩ♠Οôχ ùΚôρûΚ 

 4. ΚΩκ× 

  



27. The type of counselling process proposed by Carl Rogers is  

 1. Directive counselling 

 2. Non-directive counselling 

 3. Eclectic counselling 

 4. Dominant counselling 

 Κôνο úςô⊥ν]ôο ØτùΤô→ΥκΣγΟ ≅°Üûς 

ΣΚνΘο ùΜΥοØû[ 

 1. Ξ→ΚôγÓλ ≅°Üûς ΣΚνΘο 

 2. Ξ→ΚôγΟô ≅°Üûς ΣΚνΘο 

 3. ΣτØΚ ≅°Üûς ΣΚνΘο 

 4. ΑƒχΚ ≅°Üûς ΣΚνΘο 

 

28. Among the following ‘Educable mentally retarded’ are 

 1. Profound mentally retarded 

 2. Severe mentally retarded 

 3. Moderate mentally retarded 

 4. Mild mentally retarded 

 •θχΚηΟΞνΚ↓ο Κο↑ Κσ♦χÏλ Τ∴♣ûΩχ 

Ïτ°ΥΞνΚρ 

 1. ØÝûΤΥô∴ Τ∴♣ûΩχ Ïτ°ΥΞνΚρ 

 2. ¾↑ςΤô∴ Τ∴♣ûΩχ Ïτ°ΥΞνΚρ 

 3. ♥ΘΤô∴ Τ∴♣ûΩχ Ïτ°ΥΞνΚρ 

 4. Ïû[Ξô∴ Τ∴♣ûΩχ Ïτ°ΥΞνΚρ 

 



29.  Intellectual resource among the following 

 1. Scientists 

 2. Water falls 

 3. Farm fields 

 4. Zoo 

 •θχΚηΟΞσ°ο ÖηΠ°Ü ΞΖλ 

 1. ≅°↑ΥΩ°ΝνΚρ 

 2. ¿ν Åε′Κρ 

 3. ΣηûΠ ↑ΞΜôΥ ♣ΩδΚρ 

 4. ∆♠ν Κôγ′ ΜôûΩ 

 

 

30. In the formative assessment, weightage to be given for slip-test is 

 1. 10 marks 

 2. 20 marks 

 3. 25 marks 

 4. 15 marks 

 ΞΖν♣ûΩ ΤƒκÀγ⁄ο ′ßúΘν↑σÏ ΞΨδΚκΣÓλ 

ΤƒκùΣη ΙÕχ•Ó 

 1. 10 ΤƒκùΣηΚρ 

 2. 20 ΤƒκùΣηΚρ 

 3. 25 ΤƒκùΣηΚρ 

 4. 15 ΤƒκùΣηΚρ 



 

31. Θ♥Ψτ Φτú[ôν Β∴ØηÓ 

Θ±úΥ ≅ΞσùΚôÚ ÏΠØηÓ 

≅♥θΘλ ≅ΞàûΟ Ξ→ΥôÏλ 

≅τúΣ ≅ΞàûΟΥ ùΤô→ΥôÏλ− 

úΤσΚôÔλ ΣôΟûΩ ùΞ−ΒςôΤ←δΚ∴ôν 

ΒιΘûΩκ♦τ •θ Σô⁄ÙρΖôν− 

 1. Θ♥θ  ΒτΣλ    

 2. Θ♥θ ùΤô→ 

 3. Θ♥Ψτ ΒΘΥλ 

 4. Θ♥Ψτ ′[κ× 

32. ΚΟ←ο ΞôÝλ Σôíγ⁄ Β∴ιûΘε úΜνϕΘ ùΣ↔Υ 

↑ΩδÏ 

 1. ƒ♥δ€Ωλ 

 2. Ñ[ô 

 3. ¿νΥôû∴ 

 4. ΚΟσÏƒûς 

  



33. €ÚωΠ úΘΞςôΥ↔τ ≅ςΜûΞ♠ο ↑ΚΟΚ↑ΥôΚ 

ƒΚθϕΘΞν 

 1. ÀνΣôο 

 2. ùΘ∴ô←ςôΤτ 

 3. Τ↔ΥôûΘςôΤτ 

 4. ØοΩô 

34. »» ùΚôÝιΘΞàχÏχ ùΚôρÞµµ Φàλ ΣΨùΤô→ 

ΒχΚÚιûΘ Ξ←ÙßιÕ€[Õ− 

 1. ∆ΟσΣÚΤτ Ïû[Υ 

 2. ∆Οο ΞΖλ ùΣ[ 

 3. ùΜοΞλ ∆ûΟΥΞτ 

 4. Ξ←ûΤ ∆ûΟΥΞτ 

  

35. ΤûΩΚúΖô Σôû[ΚúΖô ΒοΩôΘ ΤôΞγΟλ 

 1. ΤÕûς 

 2. ΘφûΜ 

 3. ×ÕχúΚôγûΟ 

 4. Κτ±ΥôÏΤ↔ 

 



 

36. ΚοÛλ ΤûΩÙλ ÏƒιÕ ΞϕúΘτ , ùΣÚδ 

ΚôÓλ ùΜ⁄Ùλ ΚΟϕÕ ΞϕúΘτ 

ΦοûΩ ↑↔ϕΘ ΜΤùΞ↓ , ΦδÏλ Ρôτ 

Β[δ€ι ΘΞθϕÕ ΞϕúΘτ 

, ΒκΣôΟ←ο ≅ûΤϕÕρΖ ΣôÓùΣôÚρ 

 1. Υôû∴ 

 2. Κς⁄ 

 3. Αß 

 4. Τôτ 

 

37. ×[ϕçµûΤ ¿ςô ∴ûΤÙλ ≅ΚϕçµûΤ 

  ΞôµûΤΥôσ ΚôΠκ ΣÓλ− 

  , ΒκΣôΟ←ο ≅ûΤϕÕρΖ ≅∞ 

 1. ∆ΞûΤΥ∞ 

 2. ∆ÚΞΚ ≅∞ 

 3. ΘσÏ°κúΣσ[ ≅∞ 

 4. ΦÓιÕχΚôγÓ ∆ΞûΤΥ∞ 

  



38. ΒςηÓ ≅οΩÕ ΣΩ ≠νΚρ úΜνϕÕ ≅ûΤΞÕ 

 1. ΘûΖ 

 2. ≅ûΜ 

 3. ùΘôûΟ 

 4. ≅⁄ 

39. » Σô↔χÏ ΡηΣν Κ♦Ωνµ ,Βι ùΘôΟ↔ο 

≅ûΤϕÕρΖ úΞσßûΤ  

 1. ΡôτΚôλ úΞσßûΤ 

 2. êτ[ôλ úΞσßûΤ 

 3. ΒςηΟôλ úΞσßûΤ 

 4. ΗϕΘôλ úΞσßûΤ 

 

40. ΤΩν  ∗  ≅⁄  <  ΤΩς⁄  ΦτΣÕ  ΒπΞûΚκ  

×Πνε′ΥôÏλ  

 1. ∆ΟλΣÓ ùΤµκ ×Πνε′ 

 2. ∆♠Ãß ×Πνε′ 

 3. ùΤµÂσßκ ×Πνε′ 

 4. ΤΚςùΤµκ ×Πνε′ 

 



41. » Α→µ ΦτΣΘτ ùΣôÚρ 

 1. ×ÕûΤ 

 2. úΤôƒςλ 

 3. ΣΨûΤ 

 4. ΣιÕ 

 

42. » ΒΖûΤ♠ο Κο µ ΦτΣÕ ΒπΞûΚι ùΘôΟςôÏλ 

 1. ùΜµƒι ùΘôΟν 

 2. ↑∴ôι ùΘôΟν 

 3. ∆Πνε′ι ùΘôΟν 

 4. ΚγΟûΖι ùΘôΟν 

 

43. ×←♠τ ΒΖûΤ Τς×εùΜôο 

 1. ×←κΣ[θ 

 2. ×←χÏγ⁄ 

 3. ×←χÏÚûΖ 

 4. ×←κ♦ρûΖ 

 



 

44. ê↑Ολ ΒιùΘôûΚε ùΜôοûΩ ↑↔ιÕχ Κôη− 

 1. ≅[λ+ ùΣôÚρ+ ΒτΣλ 

 2. ΒΥο+ ΒûΜ+ ΡôΟΚλ 

 3. ΘτûΤ+ Øτ±ûΩ+ ΣΟνχûΚ 

 4. úΜς+ úΜôΨ+ Σôη⁄Υν 

 

45. ×[Ρôòß ΒεùΜôοûΩκ ♦↔ιÕχ ΚôηΚ−  

 1. ×[ ∗ Ρôòß 

 2. ×[λ ∗ ΡôτÏ ∗ èß 

 3. ×[λ ∗ Ρôòß 

 4. ×[ ∗ ΡôτÏ ∗ èß 

46. »Φη ∗ ΦτΣµ ΦτΣÕ ΒπΞôß úΜÚλ 

 1. ΦηΦτΣ 

 2. Φηù∴τΣ 

 3. Φτù∴τΣ 

 4. ΦηùΠτΣ 

  



47. Κσ[ÕûΚλ ΤηΠΖÜ ΚοΩô∋Õ( ∆ΩΚΖùΞτ∋ß( 

Σô⁄Υ ×ΩΞν 

 1. ΚλΣν 

 2. ΙΖûΞΥôν 

 3. ΙγΟχáιΘν 

 4. ×ΚúΨϕƒκ ×ΩΞν 

 

48. ƒ↔áΟςôΜκΣχ Κ↑ςôΥν Σô⁄Υ èο 

1. ØχáΟσΣρÞ 

 2. ØιÕ ÏΤôςÑΞô♥ ♦ρûΖιΘ♥θ 

 3. Κ←δΚιÕκΣς∞ 

 4. Ïσ[ôΩχ Ï[Ξφ′ 

 

49. » úΣôÚλ ≅ûΤƒÙλµ Φàλ èûΩ ΒΥσ°ΥΞν . 

 1. ΟôουΟôµ 

 2. úΜχυ♦Υν 

 3. ♦úΖγúΟô 

 4. ùΣν∴ôγ_ô 

  



50. » Υôû∴ µ Φ∴κ ùΣôÚρ ΘÚλ ΣΩùΜôσΚρ 

 1. úΞΨλ+ ΤôΘδΚλ+ ×Π↔ 

 2. ΚΩôΣλ+ úΞΨλ+ ΣΚÓ 

 3. ΚΖΣλ+ úΞΨλ+ ΣΚÓ 

 4. ûΚλΤô+ Κ↓ß+ ΞδΚλ 

 •θχΚôÔλ ΣιƒûΥ Σ⁄ιÕ 40+ 41 ↑∴ôχΚÞχÏ 

↑ûΟΥ↓− 

ΡôΥχΚν ΚôΩιƒο ′σ°Ωχ€ΥδΚρ Φ∴κΣÓλ 

♦ςΣϕΘ ΞûΚΚρ úΘôτ°∴− ΣϕΘλ Φτàλ 

ùΜôο←σÏχ » ΚγÓΘοµ ΦτΣÕ ùΣôÚρ− Θ♥→ο 

ΞΨδÏλ ♦ςΣϕΘδΚûΖ ΒΩχΚΠ èΩôν 

ùΘôηæσ[ôß ΞûΚκΣÓιÕΞν− ♦ρûΖιΘ♥ûΨκ 

» ♦ρûΖχΚ↑µ Φ∴  ùΞηΣôκ  Σôγ⁄Ûλ+  ♦ρûΖκ  

ΣôγùΟ∴κ Στ±Ú Σôγ⁄ΥÛλ áß€τ[∴− 

51. ΒΞνΚρ Αγ′χΚôΩιƒο ′σ°Ωχ€ΥδΚρ 

úΘôτ°∴   

 1. ΣοΩΞν 

 2. úΜôΨν 

 3. ΡôΥχΚν 

 4. Σôη⁄Υν 



52. »»♦ρûΖκΣôγÓ µµ Φ∴ ′σ°Ωχ€ΥιûΘχ Ï°κ♦Óλ 

èο 

1. ùΞηΣô Σôγ⁄Υο 

 2. Στ±Ú Σôγ⁄Υο 

 3. ùΘôοΚôκ♦Υλ 

 4. Ρτòο  

•θχΚôÔλ ΣôΟûΩκ Σ⁄ιÕ 42+ 43 ↑∴ôχΚÞχÏ 

↑ûΟΥ↓− 

 ƒδΚρ ♦[κ♦àχúΚ , ΒÚρ 

 úΘΜδΚρ ΞôθιÕûςχÏλ 

 ΚδÏο ♦[κ♦àχúΚô , ΒΖδ 

 ΚôΘΩν ΞôθιÕûςκΣν 

 ΤδÏο ♦[κ♦àχúΚô , Σ♠ν 

 ΞΥοΚρ ×ΚÝûςχÏλ 

 ∆δΚρ ♦[κ♦àχúΚô , Θ♥θ 

 ∆ΩΚúΤ ΞôθιÕûςχÏλ− 

53. ΚδÏο ΦτΣΘτ ùΣôÚρ  

 1. ΡηΣΚο 

 2. ΚôûΩ 

 3. ΤôûΩ 

 4. ΒςÜ 



54. úΤσΚôÔλ ΣôΟο Ξ←ÙßιÕλ ΚÚιÕ 

 1. ♦[ϕΘΡôρ ΞôθιÕ 

 2. ƒÚΤΠ ΞôθιÕ 

 3. ♦↔Ü ΞôθιÕ 

 4. ΞςúΞσ× ΞôθιÕ 

 

55. ΤôΠΞνΚÞχÏι ùΘ↔ϕΘ ΦÓιÕχΚôγÓΚûΖχ 

ùΚôηÓ ≅Ξσ°σ€ûΟúΥ ∆ρΖ ΙσßûΤ 

úΞσßûΤΚûΖ ΑςôµϕÕ ΙÚ ùΣôÕ ↑ƒ♠û∴ 

ΞÚ↑χÏλ Κσ♦ιΘο Øû[ 

 1. ↑ƒΞÚ Øû[ 

 2. ↑ƒ↑ΖχΚ Øû[ 

 3. ↑↔Üûς Øû[ 

 4. Ρ⁄κ× Øû[ 

 

56. Ρôτ Κσ€ú[τ Φτß ùΜôοΞûΘχ Κôγ⁄Ûλ Ρôτ 

≅àΣΞδΚûΖκ ùΣß€ú[τ Φτß ÏΨϕûΘΚρ 

á°∴ôο ≅Θû∴úΥ ∆ηûΤΥô∴ Κο↑ 

Φ∴Ωôλ+ Φτß á°ΥΞν 

 1. ↔εΜνγυ 

 2. υ≈ΞτΜτ 

 3. ⊥ôτå♠ 

 4. €οΣôγ↔χ 



57. ùΤô→χ Κο↑ ΦτΣÕ 

 1. ùΤô→♠τ ΣΥτΣôÓ Σσ° ΑςôµΞÕ 

2. ΞςΩôß+ ×↑♠Υο+ ≅°↑Υο ƒ[τΚûΖ 

ΞΖνιΘο 

 3. ΚΠχÏ+ ÕûΠ ΚûΩιƒγΟλ ΞΖνιΘο 

4. úΚγΟο+ úΣÑΘο+ Σ⁄ιΘο+ ΦÝÕΘο Α€Υ 

ƒ[τΚûΖ ΞΖνιΘο 

 

58. ΤôΠΞνΚ↓τ úΣε′ο ΚôΠκΣÓλ ùΤô→ΞΖλ+ 

∆εΜ↔κ×+ ùΤô→ΡûΟ+ ÏςοΞΖλ Α€Υ ùΤô→χ 

áßΚûΖ ΒιúΘν↑τ êΩλ Τƒκ♦ΟΩôλ− 

 1.       ΦÝιÕι úΘνÜ 

 2. ΞôµùΤô→ι úΘνÜ 

 3. ΘςκΣÓιΘκΣγΟ úΘνÜ 

 4. ×[ΞΥι úΘνÜ 

 

59. Κ∞±♠ο Ι←+ Ι↓+ ΣΟ ΒΥχΚλ+ ΞûςΚûΩ+ 

∆ûς ØΘ←Υ ΕΟΚδΚûΖ ΙÚδ€ûΠιÕκ 

ΣΥτΣÓιÕλ Øû[ûΥ ΒπΞôß ≅ûΨκΣν 

 1. ÏßϕΘΚÓΚûΖ ∆ÚΞôχΚο 

 2. ΣοíΟΚλ 

 3. ùΜΥοƒγΟ ΞûςÜΚρ 

 4. Κôγ′ΥΚλ 



 

60. ΚûΩιƒγΟλ ∋Curriculum) Φàλ Αδ€Ωε ùΜôο 

ΒλùΤô→♠←ÚϕÕ ΞϕΘÕ− 

 1. ♦ùςφÑ 

 2. €úςχΚλ 

 3. ΒΩι¾τ 

 4. Φ♦úςΥλ 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

61. The snow covered up the grass with her great white cloak. 

 Choose the meaning of the word “cloak” . 
 

 1. a short wide pipe. 

 2. a small brown and grey bird.  

 3. a strong wind.  

 4. a type of coat that has no sleeves. 

 
62. Usha’s meticulous systematic training began in earnest.  
 Choose the synonym of the word, ‘earnest’. 
 
 1. calm  

 2. serious  

 3. untidy  

 4. thin  

 

 

 

 

 

 

 



 

63. Oliver was frightened at the sight of so many gentlemen, which 
made him tremble. 

 Choose the antonym of the word, ‘many’. 
 

 1. several  

 2. few  

 3. any  

 4. a few 

 

64. Choose the word with wrong spelling.  
 
 1. aboriginol  

 2. spectacle  

 3. miniature  

 4. inhabitants  

 

65. Ramesh set up a new business. 

 Choose the meaning of the phrasal verb ‘set up’ in the context. 

 1. bought  

 2. offered  

 3. started  

 4. showed  

 

 

 



 

66. Choose the suffix that suits the word “quick” to form an adverb.  

 
 1. ly  

 2. lly  

 3. ness  

 4. er  

 

67. If you are thirsty, you can drink buttermilk.  

 This is;  

 1. a simple sentence  

 2. a compound sentence 

 3. a complex sentence  

 4. an interrogative sentence  

 

68. Choose the grammatically correct sentence from the following.  
 

 1. One should do his duty.  

 2. One should do one’s duty. 

 3. One should do her duty.  

 4. One should do their duty. 

 

 

 

 

 



69. How can you ………. that ? 
 Choose the correct form of the verb that fits the blank. 
 
 1. say 

 2. said  

 3. says  

 4. have said  

 

70. They never expected to have any more. 

 Choose the part of speech of the word, ‘never’.  
 

 1. a pronoun  

 2. a conjunction 

 3. an adverb 

 4. an adjective 

 

71. He hopes that he will win the first prize. 

 This sentence has;  
 

 1. a noun clause  

 2. a conditional clause 

 3. a defining relative clause  

 4. a non-defining relative clause  

 

 

 



72. The patient had died before the doctor …………. .  

 Choose the correct form of the verb that fits the blank. 
 

 1. arriving 

 2. arrived  

 3. was arriving 

 4. had arrived 

 

73. Manjula and Sruthi play ………… guitar well. 

 Choose the correct article that fits the blank.  

 1. a  

 2. an  

 3. the 

 4. No article is needed. 

 

74. The teacher explained the problem ………. the students. 

 Choose the correct preposition that fits the blank. 
 

 1. with 

 2. to  

 3. by  

 4. up 

 

 

 



75. Lara is not so great as Tendulkar. 

 Choose the comparative degree of this sentence.  
 

 1. Tendulkar is as great as Lara. 

 2. Tendulkar is greater than Lara. 

 3. Lara is greater than Tendulkar. 

 4. Lara is as great as Tendulkar.  

 

76. You must take care of your parents. 

 This sentence indicates;  
 

 1. obligation  

 2. suggestion  

 3. command  

 4. request 

 

77. Come out now, Cousin. 

 Choose the correct question tag of this sentence. 
 
 1. do you ?  

 2. don’t you ? 

 3. are you ? 

 4. won’t you ?  

 

 

 



78. “I’ll catch you in a minute”, replied Seema.  

 Choose the correct reported speech of the sentence. 
 

 1. Seema said to that she will catch you in a minute. 

 2. Seema says that she would catch him in a minute. 

 3. Seema replied that she would catch him in a minute. 

 4. Seema told that she will catch you in a minute. 

 

79. I built a high wall all around. 

 Choose the correct passive voice of the sentence.  
 
 1. A high wall is built by me all around.  

 2. A high wall was built all around by me.  

 3. I was built a high wall all around. 

 4. All around a high wall has been built by me. 

 

80. Choose the correctly punctuated sentence. 
  
 1. “I’m sorry,” the chemist said. 

 2. “I’m sorry the chemist said”  

 3. I’m sorry, “the chemist said.” 

 4. “I’m sorry” the chemist said. 

 

 

 

 



81. The following is NOT the part of a letter to apply for a job.  
 
 1. The details of father. 

 2. Educational Qualifications.  

 3. Age and date of birth. 

 4. Contact details. 

 

82. Choose the list of words in the correct alphabetical order. 
  
 1. property, properly, proper, properate  

 2. proper, properate, property, properly  

 3. proper, properate,  properly,  property 

 4. properate, properly, property, proper  

 

83. Read the passage and choose the correct answer to the question 
given after. 

 Horses have close to 360 degree all-round vision. The only place 
they cannot see is directly behind or right in front of them, which is 
why it’s dangerous to stand behind a horse. The horse riders cover 
their horse’s eyes with blinkers. 

 The horse riders cover their horse’s eyes with blinkers so that the 
horses. 

 1. can see what is behind.  

 2. can move faster.  

 3. can carry heavy loads.  

 4. can focus only to the road ahead. 

 



84. Read the passage and choose the correct answer to the question 
given after.  

 A library inspires the students to develop the habit of reading books. 
The reading room provides an atmosphere where every man wants to 
read the books. 

 We can develop our reading habit; 

 1. by visiting a library frequently.  

 2. by watching TV serials.  

 3. by visiting our friends’ houses. 

 4. by meeting people in various places. 

 

85. Formative evaluation is:  
 
 1. a process of conducting test on the whole syllabus.  

 2. a process of ultimate feedback on performance. 

 3. a process of ongoing feedback on performance.  

 4. a process of assessing all-round development.  

 

86. While searching for a particular train in the Railway timetable, we 
use the following reading technique.  

 
 1. Extensive reading  

 2. Skimming  

 3. Scanning  

 4. Intensive reading  

 



87. The following is not suggested to be prescribed in the supplementary 
reader as syllabus.  

 

 1. Stories  

 2. Incidents  

 3. Descriptions  

 4. Poems  

 

88. The following focuses on natural way of learning a second language 
like that of the acquisition of the first language. 

  
 1. Direct method  

 2. Translation method  

 3. S.O.S. method  

 4. Bilingual method 

 

89. The form of reliability that is used to judge the consistency of results 
across items on the same test is;  

 
 1. Test – Retest Reliability  

 2. Inter-rater Reliability  

 3. Split Item Reliability  

 4. Parallel – Forms Reliability   

 

 

 

 



 

90. Middle English was the result of the:  
 
 1. Norman Invasion 

 2. Saxon Invasion 

 3. Anglo-Saxon Invasion  

 4. West Saxon Invasion 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

91. 1 billion is equal to   

 1 ♦ο←Υτ ΦτΣÕ ΒΘσÏ ΜΤλ 

 1. 10 ♥ο←ΥτΚρ  

 2. 100 ♥ο←ΥτΚρ  

 3. 1000 ΒΩγΜδΚρ  

 4. 10000 ΒΩγΜδΚρ 

 

92. The sum of first three common multiples of 3, 4 and 9 is   

 3, 4 Τσßλ 9  Α€Υ ΦηΚ↓τ ØΘο êτß ùΣôÕ 

ΤΟδ€Κ↓τ ùΤôιΘλ 

 1. 108  

 2. 144 

 3. 216 

 4. 252 
 

93. Convert 2 : 3 into percentage  

 2 : 3 Η ΜΘÅΘΤôΚ Τôσ°∴ôο €ûΟκΣÕ 

 1. 200
3

% 

 2. 200
300

% 

 3. 2
300

% 

 4. 100
3

% 



94. The following fraction is equivalent to  3
5

 

 3
5  
χÏ ΜΤΤô∴ ♦τ∴λ 

 1. 5
3

  

 2. 9
25

 

 3. 9
15

 

 4. 13
15

 

 

95. The next number in the pattern - 62, - 37, - 12, ….. is 

 - 62, - 37, - 12 … Ξ↔ûΜ♠ο ≅ÓιΘ Φη  

 1. 25  

 2. 13 

 3. 0 

 4.    - 13 
 

96. The cost of 20 tons of iron is ` 6,00,000 then the cost of  560 kg of 

iron is (in rupees)   

 20 Οτ ΒÚλ♦τ  ↑ûΩ ` 6,00,000  Φ±ο 

560  €úΩô€ςôλ ΒÚλ♦τ ↑ûΩ (ìΣô♠ο) 

 1. 1680000  

 2. 168000 

 3. 16800 

 4. 33600 

 



97. A lorry requires 54 liters of diesel to travel a distance of 297 km then 

the diesel required to travel a distance of 550 km is (in liters) 

 ΙÚ Ωô↔Υô∴Õ 297  €−Á çςλ ΣΥΠλ ùΜµΥ 

54 ←γΟν ≈Μο úΘûΞκΣÓ€[Õ Φ±ο  550 €−Á 

çςλ ΣΥΠλ ùΜµΥ úΘûΞκΣÓλ ≈Μ←τ ≅ΖÜ  
( ←γΟ↔ο )  

 1. 100  

 2. 50 

 3. 25.16 

 4. 25 
 

 

98. The interest on ` 12000 for one month at the rate of 10% per annum 

is (in Rupees) 

 ` 12,000  Φàλ ùΘôûΚχÏ+ ΞÚΟιƒσÏ 10%  Ξγ⁄ 

ÅΘλ 1 ΤôΘιƒσΚô∴ Ξγ⁄ ( ìΣô♠ο ) 

 1. 12100  

 2. 1200 

 3. 600 

 4. 100 
 

 

 

 

 

 

 

 

 

 



99. A triangle shaped instrument in the geometry box is called   

 1. Protractor  

 2. Compass 

 3. Divider 

 4. Set square 

 Ξ⁄↑Υο ΚÚ↑Κρ ùΣγ⁄♠ο  ØχúΚôΠ Ξ⁄↑ο 
∆ρΖ ΚÚ↑♠τ ùΣΥν 

 1. úΚôΠΤô±  
 2. ΚΞςôΥλ 
 3. ΚûΞ 
 4. êΩΤγΟδΚρ 
 

100. The angle between two parallel lines is  

 ΒςηÓ ΒûΠúΚôÓΚÞχÏ ΒûΟκΣγΟ úΚôΠλ 
 1. 0o  
 2. 90o

 

 3. 180o 

 4. 270o 
 

101. The three angles of a quadrilateral are 55o, 65o and 105o respectively 

then the fourth angle is   

 ΙÚ ΡôσΚςιƒτ êτß úΚôΠδΚρ Øû[úΥ 55o,  

65o  Τσßλ 105o Φ±ο ΡôτΚôΞÕ úΚôΠλ 

 1. 85o  

 2. 105o 

 3. 115o 

 4. 135o 

 



102. If an angle is 4 times of its supplement then the measure of that 

angle is  

 ΙÚ úΚôΠΤô∴Õ ≅Θτ ♥ûΚ♣ςκ× úΚôΠιƒσÏ 
4 ΤΟδÏ Φ±ο ≅χúΚôΠ ≅ΖÜ 

 1. 36o  

 2. 72o 

 3. 108o 

 4. 144o 

 

103. The 3D shaped figure which does not have a vertex 

 1. Cone  

 2. Sphere 

 3. Pyramid 

 4. Prism 

 •θχΚηΟΞσ°ο ∆ε′Υσ[ ØκΣ↔ΤôΠ Ξ⁄Ξλ 

 1. áλ×  

 2. úΚôΖλ 

 3. ♦ς♥Ó 

 4. ΣγΟΚλ 

 

 

 

 

 



104. If  
2 9 2 13 3 3

13 13 13

x- - +
æ ö æ ö æ ö´ =ç ÷ ç ÷ ç ÷
è ø è ø è ø

 then the value of  x  is 

 
2 9 2 13 3 3

13 13 13

x- - +
æ ö æ ö æ ö´ =ç ÷ ç ÷ ç ÷
è ø è ø è ø

 Φ±ο  ‘x’  τ Τƒκ×   

 1. - 6   

 2. - 5 

 3.    5 

 4.    6 

105. The order of the polynomial 3 454 3 2
2

x x x- + +  is  

 3 454 3 2
2

x x x- + +  Φàλ ΣοÛßκ×χúΚôûΞ♠τ Σ⁄ 

 1.      5
2
-   

 2. 3 

 3. 4 

 4. 2 

106. Twice of a number reduced by 10 equals to 32 then the number is   

 Ιν Φη∞τ  ΒÚΤΟδ€←ÚϕÕ 10Η Κ→ιΘôο 

≅Õ 32 χÏ ΜΤΤô€[Õ Φ±ο ≅πùΞη 

 1. 32  

 2. 21 

 3. 11 

 4. 10 

 



107. Area of a rectangle and the area of a circle are equal.  If the 

dimensions of the rectangle are 14cm ´  11cm  then the radius of the 

circle is (in cms) 

 ΙÚ ùΜπΞΚιƒτ ΣςκΣΖÜλ ΙÚ ΞγΟιƒτ 
ΣςκΣΖÜλ ΜΤλ− ùΜπΞΚιƒτ Σ↔ΤôΠδΚρ 
14 ùΜ−Á−´ 11 ùΜ−Á− Φ±ο ≅πΞγΟιƒτ Αςλ     

 ( ùΜ−Á− , ο ) 

 1. 21  

 2. 14 

 3. 10.5 

 4. 7 

 

 

108. The cost of fencing a square park of side 250 m. at the rate of ` 20 

per meter is (in Rupees)  

 250 Á− ΣχΚ ≅ΖÜ ùΚôηΟ ΜÕςΞ⁄Ξ éδΚôûΞ 

Ñσ° úΞ← ≅ûΤχΚ ÁγΟÚχÏ    `20 ùΜΩΞô€[Õ 

Φ±ο ùΤôιΘλ úΞ← ≅ûΤχΚ ΑÏλ 
ùΜΩÜ  ( ìΣô♠ο ) 

 1. 5000  

 2. 10,000 

 3. 20,000 

 4. 50,000 

 

  



109. 1 kilo liter in milliliters  

 1  €úΩô ←γΟÚχÏ ΜΤΤô∴ ♥ο← ÁγΟνΚρ 

 1. 10,00,000  

 2. 1,00,000 

 3. 10,000 

 4. 1,000 

110. Neeraja studies from 7.00 PM to 8.15 PM then the time allotted for 

her studies is (in minutes) 

 ¿ς⊥ô ΦτΣΞρ 7.00 PM ←ÚϕÕ 8.15 PM Ξûς 

Σ⁄ιΘôρ  Φ±ο  ≅Ξρ  Σ⁄κΣΘσÏ  ΙÕχ€Υ  úΡςλ   
 ( ♣♥ΟδΚ↓ο ) 

 1. 45  

 2. 60 

 3. 75 

 4. 115 

111. The marks obtained by 15 students in a test respectively are  

 8, 1, 5, 2, 6, 5, 5, 0, 1, 9, 7, 8, 0, 3, 5.  The number of students who 

got 5 or more than 5 marks are  

 15  ΤôΠΞνΚρ ΙÚ úΘν↑ο Øû[úΥ  8, 1, 5, 2, 6, 5, 

5, 0, 1, 9, 7, 8, 0, 3, 5 Φτ[ ΤƒκùΣηΚûΖ ùΣσ[ôνΚρ 
Φ±ο 5 ≅οΩÕ ≅ûΘ↑Ο ≅ƒΚ ΤƒκùΣηΚρ 

ùΣσ[ ΤôΠΞνΚ↓τ Φη∞χΚûΚ 

 1. 9  

 2. 8 

 3. 7 

 4. 5 



112. The tally mark that represents ‘9’ is 

 »9µ Φτ[ ΦηÔχÏ↔Υ úΡνúΚôγÓχÏ°Κρ 

 1.    

 2.  

 3.  

 4.  

113. Length of the class of the class intervals 125-150, 150-175, 175-200, 

….. is 

 ΞÏκ×Κρ 125-150, 150-175, 175-200,….…. Α€ΥΞσ°τ 

ΞÏκ× ¿Ζλ 

 1. 150  

 2. 175 

 3. 25 

 4. - 25 

114. If Tushar ate 3 parts out of 5 parts of a cake then the remaining part 

in fraction form is  

 Õ_ôν ΦτΣΞρ ΙÚ úΚχ€ο 5 ο 3 ΣôΚιûΘ 

ƒτ[ôτ Φ±ο ÁƒÙρΖ ΣôΚιƒτ ♦τ∴Ξ⁄Ξλ 

 1. 3
5

  

 2. 2
5

 

 3. 5
3

 

 4. 5
2

 



 

 
 

115. “Mathematics is the science of quantity” defined by  

 1. August Comte 

 2. Benjamin Pierce 

 3. Aristotle 
 4. Eudoxus 

 »» Κ∞Θλ ΦτΣÕ ≅ΖÅÓΚ↓τ ≅°↑Υο µµ  Φ∴ 

ΞûςΥßιΘΞν 

 1. ΑΚυγ úΚôλúΟ  

 2. ùΣφΜ♥τ ♦Υνυ 

 3. ≅↔υΟô⁄ο 

 4. ëúΟôχΜυ 

 

116. The Educational Value that was not shown in “Young’s 

 Classification”  

 1. Utilitarian value 

 2. Other functions of mathematics 

 3. Mathematics as a mode of thought 

 4. Disciplinary value 

 »»Υδ ΞûΚκΣôγ⁄Υοµµ - Βƒο á[κΣΟôΘ Κο↑Τƒκ× 

 1. ΣΥτΣôγÓ Τƒκ×  

 2. Κ∞ΘκΣôΟιƒτ Τσ[ Μôν×Κρ 

 3. ′ϕΘû∴Κ↓τ ùΞ↓κΣôΟôΚ Κ∞Θλ 

 4. ΙÝχΚΤƒκ× 



 

117. One of the characteristic feature of “Deductive Method”  

 1. Example to Principle 

 2. General to Specific 

 3. Unknown to known 

 4. Concrete to Abstract 

 »»↑ƒ↑ΖχΚ Øû[µµ , ΒΘτ ΙÚ ÏΠôƒΜΥλ 

 1. ∆ΘôςΠδΚ↓←ÚϕÕ ↑ƒχÏ  

 2. ùΣôÕ↑←ÚϕÕ ′[κΣλΜιƒσÏ 

 3. ùΘ↔ΥôΘƒ←ÚϕÕ ùΘ↔ϕΘΞσ°σÏ 

 4. Κôγ′♣ûΩ♠←ÚϕÕ ΚÚιƒΥο♣ûΩχÏ 

 
 

118. This aid is used in teaching of “Geometrical Concepts”  

 1. Grid paper 

 2. Bulletin board 

 3. Geo board 
 4. Notice board 

 Ξ⁄↑Υο ΚÚιÕΚûΖ Κσ♦χΚ ΣΥτΣÓλ ΚÚ↑ 

 1. ΚγΟ Κô€Θλ  

 2. ùΜµƒκΣΩûΚ 

 3. Ξ⁄↑Υο ΣΩûΚ 

 4. ≅°↑κ× ΣΩûΚ 

 
 
 
 



119. One of the following does not belong to the “principles of 

curriculum construction” is 

 1. Principle of utility 

 2. Principle of correlation 

 3. Principle of child centeredness  
 4. Spiral approach 

 •θχΚηΟΞσ°ο Κο↑ ΚûΩιƒγΟιûΘ 
♣νΤô∞χÏλ ↑ƒΚÞΟτ ùΘôΟν♦οΩôΘÕ 

 1. ΣΥτΣôγÓ ↑ƒ   

 2. ΙτßχùΚôτß ùΘôΟν× ↑ƒ 

 3. ÏΨϕûΘûΤΥ ↑ƒ 

 4. ÑÚρ ≅ÔÏØû[ 

 
 
120. The Academic Standard to be tested through the following test item  
 “Show 3 ´  4 = 12 on the number line”  

 1. Reasoning - Proof 

 2. Communication 

 3. Connection 

 4. Representation - Visualization 

 »»3 ´  4 = 12 ΦτΣûΘ ΦηúΚôγ⁄τ ÁÕ 

ΚôγÓµµ  -  ΒΘ∴ôο úΜôƒχΚκΣÓλ Κο↑ιΘςλ 

 1. ΚôςΠλ áßΘο ` ♣ì♦ιΘο  

 2. ΘΚΞοΚρ áßΘο 

 3. ùΘôΟν×ΣÓιÕΘο 

 4. ≅ûΟΥôΖλ ΚôγÓΘο ` Κôγ′κΣÓιÕΘο 



 

121. The fibre that gives pungent smell on burning  

 1. Silk 

 2. Cotton 

 3. Wool 

 4. Nylon 

 Φ↔χÏλúΣôÕ êχûΚ ÕûΖχÏλ ΞôΜû∴ûΥ 

∆ηΟôχÏλ ΒûΨ 

 1. ΣγÓ 

 2. ΣÚιƒ 

 3. ΚλΣ↓ 

 4. ûΡΩôτ 

122. The nearest atmospheric layer to the earths surface is  

 1. Stratosphere 

 2. Thermosphere 

 3. Troposphere 

 4. Ionosphere 

 é♥♠τ ×[ΘΖκΣςκ♦σÏ ♥Κ ≅Ú€ο ∆ρΖ 

Ξ↓ΤηΟΩ ≅ÓχÏ 

 1. υγςôúΟôυ♦Υν 

 2. ùΘνúΤôυ♦Υν 

 3. γúςôúΣôυ♦Υν 

 4. Ηú∴ôυ♦Υν 

 



 

123. The thermometric substance in Galileo’s thermometer is  

 1. Mercury 

 2. Alcohol 

 3. Bromine 

 4. Air 

 Κ←←úΥô↑τ ùΞκΣ♣ûΩΤô±♠ο ùΞκΣλ 

≅Ζ↑Ο ∋ùΘνúΤôùΤγ↔χ( ΣΥτΣÓλ ùΣÚρ 

 1. ΣôΘςΜλ 

 2. ΑοΚôο 

 3. ×úςô♥τ 

 4. Κôσß 

 

124. The bulb that consumes more electricity among the bulbs with 
wattages 25W, 40W, 60W and 100W is  

 25W, 40W, 60W Τσßλ 100W ΞôγúΟϖ Σο×Κ↓ο 

≅ƒΤôΚ ♥τ Ασ[ûΩ ΣΥτΣÓιƒχùΚôρΞÕ 

 1. 100 W 

 2. 25 W 

 3. 60 W 

 4. 40 W 

  



 

125. The self adjusting force is 

 1. Static friction 

 2. Sliding friction 

 3. Rolling friction 

 4. Fluid friction 

 Θτ ΙÝδΚûΤÜ ↑ûΜ Φ∴κΣÓΞÕ 

 1. ♣ûΩ ∆ςôµÜ 

 2. ΡÝÜ ∆ςôµÜ 

 3. ∆ÚÞλ ∆ςôµÜ 

 4. ΣôµΤ ∆ςôµÜ 

 

126. The chemical nature of metallic oxide is 

 1. Acidic 

 2. Basic 

 3. Amphoteric 

 4. Neutral 

 ∆úΩôΚ Αχû]⁄τ úΞƒιΘτûΤ 

 1. ≅♥ΩιΘτûΤ 

 2. ΚôςιΘτûΤ 

 3. Χ↔Υο× 

 4. ΡÓ♣ûΩ 

  



 

127. In a food chain decomposers are also called as  

 1. Producers 

 2. Primary consumers 

 3. Secondary consumers 

 4. Recyclers 

 ΙÚ ∆ΠÜ Μδ€←♠ο ′ûΘΞôΖνΚûΖ ΒπΞôßλ 

≅ûΨκΣν 

 1. ∆σΣιƒΥôΖνΚρ 

 2. ØΘο ♣ûΩ ÖΚνúΞôνΚρ 

 3. ΒςηΟôλ ♣ûΩ ÖΚνúΞôνΚρ 

 4. ΤßÑΨσ′ΥôΖνΚρ 

128. “Micro organisms could be killed by boiling”. This was proved by 

 1. Lazzaro Spallanzani 

 2. Ronald Ross 

 3. Edward Jenner 

 4. Jonas Salk 

 !!ÖηÔ♠↔Κρ ùΚôƒχΚ ûΞκΣΘτ êΩΤôΚ 

≅→χΚκΣÓ€τ[∴&& ΒûΘ ♣ì♦ιΘΞν 

 1. Ωô⊥úςô υΣοΩôτ⊥± 

 2. úςô∴ôογ ςôυ 

 3. ΦγΞνγ ù⊥τ∴ν 

 4. ú⊥ô∴ôυ Μôχ 

 



 

129. The joints between the skull bones are 

 1. Hinge joints 

 2. Pivotal joints 

 3. Fixed joints 

 4. Ball and socket joints 

 ΚΣôΩλ ∋ΤηûΟ( ϑγ⁄τ ΦÛλ×ΚÞχ€ûΟúΥ 

ΚôΠκΣÓλ êγÓ 

 1. •ο êγÓ 

 2. ØûΖ êγÓ 

 3. ≅ûΜΥô êγÓ 

 4. ΣϕÕ €ηΠ êγÓ 

 

130. Earthworm breathes through its 

 1. Lungs like sacs  

 2. Whole body surface 

 3. Trachea 

 4. Net work of respiratory tubes 

 Τη×Ý ΒΘτ Ξ→ΥôΚ ÑΞô′χ€[Õ 

 1. ÖûςÂςο úΣôτ[ ûΣΚρ 

 2. ØÝ ∆Ο←τ ×[Σςκ× 

 3. ⁄ςôχ€Υô 

 4. ÑΞôΜχ ÏΨôµΚρ ùΚôηΟ ΞûΩ úΣôτ[ 

≅ûΤκ× 

  



131. For free medical and health suggestions Government provided a 
phone number. It is 

 ΒΩΞΜ ÑΚôΘôςλ Τσßλ Αúςôχ€ΥιƒσΚô∴ 

ΑúΩôΜû∴ΚûΖ ùΣ[ ≅ςΜôδΚιΘôο ♣ßΞκΣγΟ 

ùΘôûΩúΣ′ Φη   

 1. 108 

 2. 104 

 3. 1098 

 4. 100 

 

 

132. Choose the correct pair 

 1. Mary Kom - Boxing 

 2. Methali Raj - Badminton 

 3. Saina Nehwal - Cricket 

 4. Koneru Humpy - Kabaddi 

 Μ↔Υô∴ ú⊥ô⁄ûΥ úΘνϕùΘÓ 

 1. úΤ↔Κôλ   , ÏιÕεΜηûΟ 

 2. ♥Θô← ςôϖ  , éκΣϕÕ 

 3. ûΜ∴ô ùΡΞôο , €↔χùΚγ 

 4. úΚôú∴Ú λ♦ , ΚΣ⁄ 

 



 

 

133. The weapon used by Eskimos to hunt Seals is 

 1. Stones 

 2. Dogger 

 3. Harpoon 

 4. Gun 

 Φχ″úΤôχΚρ ≠ο ↑ΩδÏΚûΖ úΞγûΟΥôΟ 

ΣΥτΣÓιÕλ ΑÙΘλ 

 1. ΚσΚρ 

 2. ΟôΚν 

 3. ôνκéτ 

 4. ÕκΣôχ€ 

134. The person responsible for Jallianwala Bagh massacre 

 1. General Dyer 

 2. Lord Rippon 

 3. Lord Curzon 

 4. Lord Litton 

 ⊥ô←Υτ ΞôΩôΣôχ ΣÓùΚôûΩχÏ ùΣôßκ×ûΟΥ  

ΡΣν 

 1. ù⊥∴ςο ûΟΥν 

 2. ↔κΣτ ♦ς× 

 3. Κν]τ ♦ς× 

 4. ←γΟτ ♦ς×  



135. River Nile joins in this sea 

 1. Aral Sea 

 2. Caspian Sea 

 3. Mediterranean Sea 

 4. Black Sea 

 ûΡο Ρƒ ΒϕΘ ΚΟ←ο ΚΩχ€[Õ 

 1. Αςο ΚΟο 

 2. Κôυ♦Υτ ΚΟο 

 3. ΤιƒΥ ΘûςχΚΟο 

 4. ΚÚδΚΟο 

 

136. Paper industries are using this as a substitute to Bamboo 

 1. Neem 

 2. Subabul 

 3. Jatropa 

 4. Pine 

 Κô€Θ ùΘô→σΜôûΩΚρ+ ΒΘû∴ êδ€ÛχÏ 

ΣƒΩôΚ Τôσß ùΣôÚΖôΚ+ ΣΥτΣÓιƒ ΞÚ€τ[∴ 

 1. úΞλ× 

 2. ÑΣô×ο 

 3. ⊥γúςôΣô 

 4. ûΣτ 

 

 



137. The popular king in Gupta’s dynasty 

 1. Chandragupta Vikramaditya 

 2. Ashoka 

 3. Bindusara 

 4. Ajatha Sathru 

 ÏκΘ ΞλΜιƒτ ×ΚθùΣσ[ Ττ∴ν 

 1. ΜϕƒςÏκΘ ↑χςΤôƒιΥô 

 2. ≅úΜôΚν 

 3. ♦ϕÕΜôςν 

 4. ≅⊥ôΘΜιÚ 

 

138. Generally the direction shown at the top of a map  

 1. North 

 2. South 

 3. East 

 4. West 

 ùΣôÕΞôΚ+ ♣ΩΞûςΣΟιƒτ úΤοΣôΚιƒο 

ΚôγΟκΣÓλ ƒûΜ 

 1. ΞΟχÏ 

 2. ùΘσÏ 

 3. €ΨχÏ 

 4. úΤσÏ 

  



139. The brave man who revolted against Moghals and established 
Maratha Kingdom 

 1. Shivaji 

 2. Sambhaji 

 3. Shahaji Bhosle 

 4. Samardha Ramadasu 

 ØΚΩôΥνΚûΖ ΦƒνιÕ úΣôςôγΟλ ùΜµÕ+ Τςôγ⁄Υ 

ΜôλςôϖΥιûΘ ♣ß↑Υ ûΘ↔Υλ ♥ÏϕΘ Åςν 

 1. ′Ξô≥ 

 2. ΜλΣô≥ 

 3. _ô≥ úΣôυúΩ 

 4. ΜΤνΘ ςôΤΘôυ 

 

140. The largest plateau in India 

 1. Tibet Plateau 

 2. Deccan Plateau 

 3. Malwa Plateau 

 4. Chota Nagapur Plateau 

 ΒϕƒΥô↑ÛρΖ ♥ΚκùΣ↔Υ ÀΟé♥ 

 1. ƒùΣι ÀΟé♥ 

 2. ΘχΚôΠ ÀΟé♥ 

 3. ΤôρΞô ÀΟé♥ 

 4. úΜôγΟô ΡôΚéν ÀΟé♥ 

 

 



141. Different forms of condensed water vapour falling on the earth is known as  

 1. Condensation 

 2. Precipitation 

 3. Evaporation 

 4. Humidity 

 Ξ↓ΤηΟΩιƒÛρΖ ¿ςô↑♠τ ùΞπúΞß 

Ξ⁄↑Ωô∴ ÑÚδÏΘûΩ ΒπΞôß ≅ûΨκΣν 

 1. ÑÚδÏΘο 

 2. Χςλ Ξ⁄Θο 

 3. ¿ςô↑ΥôΘο 

 4. ΧςκΣΘλ 

 

142. The trees that grow only in very cold climates and have snowfall 

 1. Teak  

 2. Mahagani  

 3. Eboni  

 4. Coniferous  

 •θχΚηΟΞσ°ο ♥ΚÜλ Ï↓νε′Υô∴ ΘγΣùΞκΣ 

♣ûΩ Τσßλ Σ±κùΣô→Ü ∆ρΖ ΣÏƒΚ↓ο 

ΤγÓλ ΞΖÚλ ΤςδΚρ 

 1. úΘχÏ  

 2. ΤΚôΚ±  

 3. ΦúΣô±  

 4. Ε′♠ûΩ  



143. The rate of interest paid to recurring deposits when compared to 
fixed deposits is always… 

 1. More 

 2. Less 

 3. Equal 

 4. Too high 

 ùΘôΟν  ûΞκ×ι  ùΘôûΚχÏ  ΞΨδΚκΣÓλ  Ξγ⁄+  

ΦκùΣôÝÕλ  ♣ςϕΘς  ûΞκ×  ùΘôûΚχÏ  

ΞΨδΚκΣÓλ Ξγ⁄ûΥ Κôγ⁄Ûλ .... 

 1. ≅ƒΚλ 

 2. Ïû[Ü 

 3. ΜΤλ 

 4. ♥ΚÜλ ≅ƒΚλ 

 

144. ‘Khudkhasth’ means 

 1. Self cultivated land by Zamindars 

 2. Tax paid by farmers 

 3. Tax paid by employees 

 4. Tax levied by Church 

 !Ïι Κôυγ& ΦτΣΘτ ùΣôÚρ 

 1. ⊥ÁτΘôνΚΖôο ÑΥΤôΚ Σ♠↔ΟκΣÓλ ♣Ωλ 

 2. ↑ΞΜô♠ΚΖôο ùΜÛιΘκΣÓλ Ξ↔ 

 3. Ε→ΥνΚΖôο ùΜÛιΘκΣÓλ Ξ↔ 

 4. Μνε ↑ƒιƒÓλ Ξ↔ 

  



 
 
 

145. Expand NNP 

 1. Net National Productivity 

 2. Normal Nutrition Productivity 

 3. Net National Procedure 

 4. Normal Nutrition Process 

 NNP ΦτΣΘτ ↑↔ΞôχΚλ  

 1. Net National Productivity 

 2. Normal Nutrition Productivity 

 3. Net National Procedure 

 4. Normal Nutrition Process 

 

146. Affective domain is related to  

 1. Body 

 2. Consciousness 

 3. Heart 

 4. Brain 

 ∆Πνε′ ΜôνϕΘ ♣ûΩ ΒΘσÏ ùΘôΟνΣô∴Õ 

 1. ∆Οο 

 2. ∆ΠνÜ ♣ûΩ 

 3. ΒΘΥλ 

 4. êûΖ 

 



147. The curriculum should possess this characteristic feature 

 1. Rigidity 

 2. Elasticity 

 3. Limitedness 

 4. Unlimitedness 

 ΚûΩιƒγΟλ ΦτΣÕ •θχΚηΟ ΒϕΘκΣηûΣ 

ùΣσ°ÚχΚ úΞηÓλ 

 1. ∆ßƒιΘτûΤ 

 2. ùΡ€θÜιΘτûΤ 

 3. Ξςλ×χÏγΣγΟÕ 

 4. Ξςλ×χÏγΣΟôΘÕ 

 

148. The highest percentage of learning takes place through this sense 
organ of our body 

 1. Ear 

 2. Nose 

 3. Eye 

 4. Skin 

 ♥Κ  ≅ƒΚ  ΜΘÅΘιƒο  Κσ[ο  ΦτΣÕ  Ρλ  ∆Ο←ο  

∆ρΖ  ΒϕΘ  ×Ωτ  ∆ßκ♦τ  Ξ→ΥôΚ  

ΡûΟùΣß€[Õ 

 1. ΚôÕ 

 2. êχÏ 

 3. Κη 

 4. úΘôο 



 

149. ‘A project is a unit of activity in which pupils are made responsible 
for planning and purposing’. This definition is given by 

 1. W.H. Kilpatrick 

 2. Ballard 

 3. J.A. Stevenson 

 4. Parkar 

 !!ƒγΟ♥ÓΘο Τσßλ ′ϕƒιΘÛχÏ ΤôΠΞνΚûΖ 

ùΣôßκ♦σÏγΣÓιÕΤôß ùΜµÙλ ùΜΥ←τ ΣôΚúΤ 

ùΜΥοƒγΟλ&& Φ∴ ΞûςΥû[ ùΜµΘΞν 

 1. W.H. €οΣôγ↔χ 

 2. ùΣοΩôνγ 

 3. J.A. υ≈ΞτΜτ 

 4. ΣôνχΚν 

150. Qualitative assessment tool among the following  

 1. Data analysis 

 2. Survey 

 3. Biography 

 4. Rating scale 

 •θχΚηΟΞσ°ο ΘςΤô∴ ΤƒκÀγÓ ΜôΘ∴λ 

Φ∴κΣÓΞÕ 

 1. ×ρ↓↑Ξς ΣÏκΣôµÜ 

 2. ΚΠχùΚÓκ× 

 3. ΞôθχûΚ ΞςΩôß 

 4. Θς ≅ΖÜúΚôο 


